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/ AN ECONOMIC THEORY OF DEMOCRACY

|cause an important political strategy of governments is making v,
aware of benefits they are already receiving. However, only l)c:z?:s
Chts
11C)
vo

oters become conscious of by election day can influence th
g decisions; otherwise their behavior would be irrationa) ==

II. THE LOGICAL STRUCTURE OF THE VOTING Act

A. TERMINOLOGY OF THE ANALYSIS

By defining income|as a flow of benefits, we have involved oyr.
selves in time, sing ows can only be measured as rates per unit of
time. The unit of time we use is the election period. It is defined as
the time elapsing between elections, and it forms the principal unit
of judgment in a voter’s mind.

At least two election periods enter into a rational voter's calcula-
tions: the one following the coming election, and the one ending on
election day. We will refer to these periods £+ 1 and ¢ respectively

To illustrate the verbal analysis, we also employ several other sym-
bols as follows:

stands for an individual voter’s real or hypothetical utility income
from government activity during one election period.
_ is the incumbent party, i.e., the governing party in period t.
1 is the opposition party, ic., the party out of power in period t
(In the first part of the analysis, we assume a two-party system.)
tands for utility income actually received during a period. It is the
~ utility income provided by the party in power during that period
(O 1 stands for the utility income which a voter believes is the highest he
could possibly have received during some period. It is the utility
income which the ideal government would have provided him if it
__ had been in power during that period.
E | stands for expected value.

B. THE TWO PARTY DIFFERENTIALS

pro-

Each citizen in our model votes for the party he believes will
vide him with a higher utility income than any other parfy Juring
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election period.! To discover which is i
ction_pert ; party this is, he
utility incomes he believes he would xeccivcu’wem

office. In a two-party system, this comparison can be|

1
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tw W0 \Exp cted utility incomes is the
party __(_lfﬂf_rmﬁal. positive, he votes for the '
is negative, he votes for the opposition; if it is

 glan rational voting thus appears to be a very simple
 jts apparent ease is deceiving, for a crucial question re-
should a rational voter calculate the expected utility in-
ich he derives his expected party differential? It is in
is question that we encounter difficulties.

votes, he is helping to select the government which
him during the coming election period (ie, period
efore as we have just shown, he makes his decision by
ng future performances he expects from the competing
s. But if he is rational, he knows that no party will be able to

11 do. Hence he cannot merely com-

that it says it wi
instead he must estimate in his own mind what the

would actually do were they in power?
e one of the competing parties is already in power, its per-

ce in period t gives him the best possible idea of what it will
the future, assuming its policies have some continuity* But

me

now on, the term utility income refers specifically to utility incor

ernment activity unless otherwise noted.
Ve discuss the decision rule for multiparty systems later in this chapter.
The governing party in our ‘model has such broad powers that perhaps i
all its promises. Nevi 4 e here that it
¢ (1‘ in the real world certainty 1
cannot foresee all the obstacles it will encountss; Clearly this fact T
e 3t cture of yoters’ thinking; and (2) ina tvo party system
erately makes ambiguous promises; hence platforms are POor
even in our model. The second liscussed in detail in
n continuity in its T

o,
4 ¢ cy of every rational par
5 discussed in Chapter 7. i ¥

cannot fo

point is
ty to maintal
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Iit woul(.! be irrational to compare the current performance of
party with the expected future performance of another. For 4 y, )]rvlc
comparison, both performances must take place under th g
ditions, i.e,, in the same time period. Therefore the
the performance that the opposition party would
period ¢ if it had been in power.

True, this performance is purely hypothetical; so he can only
imagine what utility income he would have derived from it. But
party B's future is hypothetical, too—as is that of party A. Thus he
must either compare (1) two hypothetical future utility incomes or
(2) one actual present utility income and one hypothetical present
@e. Without question, the latter comparison allows him to make

use of concrete facts than the former. Not only is one of
its terms a real entity, but the other can be calculated in full view of
the situation from which it springs. If he compares future utility
incomes, he enjoys neither of these advantages. Therefore, we be-
lieve it is more rational for him to ground his voting decision on
current events than purely on future ones.

Asa result, the most important part of a voter’s decision is the size

of his/current party differential, i.c., the difference between the utility
lincome he actually received in period ¢ and the one he would have
if the opposition had been in power.® Algebraically, this
y is calculated as folL?WS:

| (Uf) —E(U7)

determinant of his expected party differential.
this conclusion does not mean that citizens in our m
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€ same cop.
voter must weigh
have produceq in

nt. Therefore the rational man in our mo
ng modifiers to his current party dif
pected party differential.

the following rule: whenever th
ﬁcﬁve current immediately prec
Ferential.




